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TERX - TiE - &5l - #5) R® i HE B &
HERH - B = 1 7,720, 000
MELT = 1 555, 000
fEEET = 1 417, 027
RHE (£ 5) m3 162 1,907 289, 864
R CER) BH=0. 46m3 (7" L-h) m3 8 3, 429 27,432
#ER m3 29 3, 439 99, 731
HKEET = 1 138, 282
g 3EEL m3 114 1,213 138, 282
EHI = 1 190, 000
mWZT = 1 190, 512
SEADT = =50cm X #&120cm m 12 15, 876 190, 512
BEET = 1 1, 256, 000
SR HEET = 1 1, 256, 423
EBES: 3 18-8-40BB  H=3. Om m3 22.9 53,775 1,231, 447
Aoy )—F 18-8-20BB m3 0.3 83, 256 24, 976
PKEEY T = 1 195, 000
ESHEKT = 1 79, 872
AEEEPKT B4 7 m 12 6, 666 79, 872
AR T T = 1 82, 549
AR T T HE L=1.5m E#: £t# & 1 82, 549 82, 549
TARLIET = 1 33, 394
LEBEOT 2tH & 2 16, 697 33, 394
AILN—KT = 1 1, 236, 000
TLFr v XA MALN—+T = 1 1, 236, 652
TLF vy X bRy I X 1000mm X 1000mm m 6 206, 092 1, 236, 652
HET = 1 4,106, 000
AV - FREL = 1 4, 106, 955
vy —MEEAE HA (4. 5-6. 5-40BB [ = 1bcm m2 488. 4 8, 409 4,106, 955
RE&T = 1 182, 000
RE&T = 1 182, 615
KEER 2tA & 5 16, 697 83, 485
KET = 1 99, 130
EEIFE = 1 7,720, 000
HBREEE = 1 992, 147
HBRERE (EEt L) = 1 992, 147
MIFE = 1 8,712,147
RIS ERE = 1 3,062,129
TERM = 1 11,764, 276
—REBEE = 1 2, 536, 408
—REBEEE = 1 2, 536, 000
TE\H = 1 14, 300, 000
HEBELE = 1 1, 430, 000
EESH = 15, 730, 000
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